
AIR-CON DI TION ING

E`a-H$›S>reqZJ

( The ory )

(710)

Time : 1½ Hours ] [ Max i mum Marks : 30

g_` : 1½ K Q>o ] [ nyUm™H$ : 30

Note : All ques tions are com pul sory and carry marks as in di cated against each
ques tion.

{ZX}e : g^r ‡ÌZ A{Zdm`© h¢ Am°a ‡À òH$ ‡ÌZ Hoo$ AßH$ CgHo$ gm_Zo {X ò J ò h¢ü&

1. How will you install a window-type air conditioner? 3

{d›S>mo-Q>mBn E`a H$›S>reZa H$mo {H$g ‡H$ma bJm`m OmVm h°?

2. Write the step-by-step method of charging gas in a water cooler. 3

dmQ>a Hy$ba _| J°g ^aZo H$s {d{Y H´$_mZwgma {bI|ü&

3. (a) How will you start a sealed compressor without using a relay? 2

grÎS> H$Â‡oga H$mo {~Zm [abo H$s ghm`Vm go H°$go Mbm`m OmVm h°?

(b) Draw a neat wiring diagram of an air conditioner. 1

E`a H$›S>reZa H$s dm`[a®J H$m gm\$ {MÃ ~ZmE±ü&

4. (a) What are the main parts of a split-type air conditioner? 2

pÒflbQ>>-Q>mBn E`a H$›S>reZa Ho$ _wª` ^mJm| Ho$ Zm_ {bI|ü&

(b) Write the difference between window-type and split-type air conditioner. 1

{d›S>mo-Q>mBn Am°a pÒflbQ>-Q>mBn E`a H$›S>reZa _| ä`m A›Va hmoVm h°?
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5. What are the possible causes and their remedies if the sealed compressor of a

window-type air conditioner is not taking start? 3

{d›S>mo-Q>mBn E`a H$›S>reZa _| bJo grÎS> H$Â‡oga Ho$ Z MbZo Ho$ ä`m H$maU h°ß Am°a C›h| {H$g ‡H$ma R>rH$
{H$`m OmVm h°?

6. Define : 1×3=3

n[a^mfm {bI| :

(a) Humidity

Am–©Vm

(b) Air-conditioning

E`a-H$›S>reqZJ

(c) Condensation

H$›S>o›goeZ

Fill in the blanks :

[a∫$ ÒWmZm| H$mo ^a| :

7. 1·5 ton air conditioner can remove heat at the rate of —— calorie per hour. 1

1·5 Q>Z E`a H$›S>reZa EH$ K Q>o _| —— H°$bmoar CÓ_m {ZH$mb gH$Vm h°ü&

8. The chemical name of CHClF2 is ——. 1

CHClF2 H$m Ho${_H$b Zm_ —— hmoVm h°ü&

9. The temperature of drinking water in a water cooler is controlled by ——. 1

dmQ>a Hy$ba _| nrZo Ho$ nmZr H$m Vmn_mZ —— ¤mam H$›Q¥>mob {H$`m OmVm h°ü&

10. Gas enters in the cylinder when the piston moves from ——. 1

O~ {nÒQ>Z —— H$s Amoa MbVm h° V~ {g{b S>a _| J°g ^a OmVr h°ü&
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11. To re-start, an air conditioner waits for ——. 1

E`a H$›S>reZa H$mo Xw~mam MbmZo Ho$ {bE —— Xoa VH$ ÈH$Zm Mm{hEü&

12. —— kVA voltage stabilizer is used with 1·5 ton air conditioner. 1

1·5 Q>Z E`a H$›S>reZa Ho$ gmW $—— kVA j_Vm H$m dmoÎQ>oO ÒQ>o{~bmBOa bJm`m OmVm h°ü&

13. To maintain the water level in a water cooler —— is fitted. 1

dmQ>a Hy$ba _| nmZr H$s gVh ~Zm ò aIZo Ho$ {bE —— bJm`m OmVm h°ü&

14. —— capacity of running capacitor is used with 1·5 ton air conditioner. 1

1·5 Q>Z E`a H$›S>reZa Ho$ gmW —— j_Vm H$m aqZJ H°$no{gQ>a bJm`m OmVm h°ü&

15. 746 watt is equal to —— horsepower. 1

746 dmQ> —— hm∞g©nmda Ho$ ~am~a hmoVm h°ü&

16. After evaporating in the cooling coil the liquid becomes ——. 1

Hy$qbJ H$m∞`b _| dmpÓnV hmoZo Ho$ nÌMmV≤ –Ï` —— ~Z OmVm h°ü&

17. For removing dust —— is used with an air conditioner. 1

Yyb-{_≈>r go ~MZo Ho$ {bE E`a H$›S>reZa _| —— H$mo bJm`m OmVm h°ü&

18. The process of storing gas in the receiver is called ——. 1

J°g H$mo [agrda _| EH${ÃV H$aZo H$s {H´$`m H$mo —— H$hVo h¢ü&

H H H
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